Part 3: Solving the Mystery
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Name of the X-File: ________________________
My Logic:
· Mrs Au is unlikely to be the offender because she was visiting __________________________________.  Also, the janitor _______________________________________
________________________________________________. 
· Marco cannot be the suspect because he has an alibi of _______________________________________. 

· Tiger may have originally been considered as the potential offender because__________________________________ _________________________________________________________________.  However, he has an alibi of _____________________________________ this morning.

· ___________________ is supposed to be the prime suspect.  His motive in committing the crime appears to be _________________________________ for his best friend, ________________________________________________________________________________________________________________________________________________.
